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And the 3131 retracted the 1P217%? from him.

OVERVIEW

Our X723 teaches us that every w17p is contingent on the consent of the
0°non. When a person is v2an a 72 °192 03 the 0on utilize this contingency
and retract the entire marriage. It is as if the woman was never married.
mooIn will discuss that this may cause some rather severe difficulties.

mooin asks a question:
= IMNN N JY NANY 19 ON HNINY 29 290 NYPM

And »'"1 asked if this is so, that when a person is ?van a 7"2 °192 3, the
o201 revoke his original 1Pun7R; it 1s considered as if he never formally
married this woman, then there is a concern that he will conspire to cover

up for his sister’s daughter’. If a person marries his niece for whom he has a
special fondness he will be able to (deviously) protect her in a case where she was
unfaithful —

= HYHYN 293 NIY TV V) NY NHYS NNITY DITY INIIIYD)

And when the witnesses will come to testify that she was an adulteress
and therefore liable for the death penalty; the husband who may desire to
protect her from such a fate will send this wife a wx after the infidelity and

subsequently will be w2 this v not in the presence of the mv or the wife,
but rather 7"2 191 -
- P9 NONY NN PYITP 2379)

And therefore the Pw17°p will be cancelled retroactively as if they were

never married and it will emerge that she is an unmarried woman at the time
of the alleged adultery. She will be spared the death penalty in a deceptive manner”.

Mo0IN answers:
- P73 NI NP7 NONNWYWI NOX WINT PRT NYWP NIT PNYY 13249 99IN)

"It does not necessarily mean only his niece; however there is usually a special fondness for one’s niece.

? We find that in order to prevent a (seemingly) similar fraud that the 02n instituted 121 in v, Otherwise
after an adulterous affair the husband could give her an undated v3, with which she can claim that she was
divorced at the time of the alleged infidelity. Why are we not concerned about this issue in this case?

3 In the aforementioned case of 797, the woman was 71271 while she was an w°R nwX. The 03 was given to her
after the mar. It is only that on account that there is no 7, that she can claim that she was divorced at the
time. The truth is that she was not divorced then; only later. Therefore there is a valid concern that she is
illegally and wrongfully being spared the death penalty.
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The >''1 says that this presents no difficulty for there is no concern unless
he conspires on her behalf illegally -

= AV NINN I NANM 119 NN YaN
However, here the protection is legal and she is exempt 79077 32 from the
death penalty since the 0°»om retroactively invalidated the marriage.

mooIN poses an additional question:
= DNMTY YIN NYUN NN OIIYY 1329901 3507 INNIY %29 NYPN TV

And the @'"9 posed an additional difficulty how can we ever mete out the

death penalty by an w8 nwRX who was 721, Even if there were witnesses who
warned her in advance that if she commits adultery she will be liable for the death
penalty, nevertheless she should be exempt from it —

- 135025 V) 7Y NYYS RPYT ‘NN POV NNINN XM
for this is a doubtful warning. The case of (any) woman 701w it is always
a P90 nX1n7 for he may, subsequently after the adultery, send her a v and

then be ®wan the 72 192 w3, This will cause that r» PYITPY 1127 1MrYPoR, which
in turn will retroactively make his wife a 7"115. The 2>7v cannot warn her that if she
proceeds with her intentions that she will be i 27, because it is possible that even
after this m1r she will not be fin°» 2>, if her husband sends her a v and is subsequently
Svan it 72192, The question is how can there ever be 7N 21°1 by an INITY WX NWK.

Moo adds an additional question:

= 9NV DYIDN DI T
And furthermore 2°7t»%» can be purified and reinstated into the Jewish
community. The husband of the 7n11w w°X nWX (the mother of the a>1n), will send her a
v) and be van it 7"™2 °192 which renders her a 7119 retroactively. The children she bore
from the illegal relationship will no longer be 0°71n since Y1917 she is not an WX NWX.
These two scenarios seem unacceptable to w".

mdoIN answers the first question concerning 70°2 20:
= POD NNIND NN RY XINY RN 257 0N 132329 99IN)
And the n'"' says that in such a situation it is not called a pp® nX9n:7, that

perhaps the %2 will send her a v3 and be 027 it 72 *192. The reason is —
= PYVAN PR VI PADIVYI 1MV PYIII PPN 2991 X2 9N )99DINT

* A person is not liable for the death penalty unless the witnesses warn him in advance that if he commits
this act he will receive the death penalty. If however even if he does the act there is a possibility that he will
not be liable for the death penalty, for whatever reason, then this warning is considered a 50 NXIN7T a
doubtful warning, and consequently the person is not liable for the death penalty regardless of the situation.
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For we follow the majority and most people do not divorce their wives,
and when they sent a v3 they are not Yva» it. A poo nxan77 is when there is a
reasonable probability that the offender will not be 7n°n 211, In this case it is highly
unlikely that she will be spared the death penalty, for the probability of her receiving a 02
and the husband also subsequently nullifying it, go against the majority rule.

mooin offers another explanation why it is not a pod NRN:
= NIV PYIY NOIY NRPINNR 1INPINT TIV

And furthermore we assume her to be in her present status that she is
presently married. A married woman who is 73m is 01 2™1n; the possibility that

she may retroactively become a 7"115 is merely a po0. The X1 npin presently, resolves
that po0. Therefore she is considered a X1 *X7) and there is no P50 NRANA.

mooin offers a proof that a XnwaT 711 can resolve the poo status into a *XT.
= AP ONNN 0INNY NNVM IN ) DMV NIIY 5991 19 NY oNY

For if what was said previously is not so; but rather a 7117 cannot resolve a
790, then a 9912 who was drinking wine, which he is forbidden to do, or he
was defiling himself by coming in contact with dead bodies; which he is
prohibited from doing why does he receive nmp®», even if he transgressed
despite the warning of witnesses; as we have learnt —

= (x,3m 9711 HNNI HNN Y3 Yy 290 HNYN IR N1HYN DN 17 199N ORT
That if the witnesses warned him: ‘do not drink wine, do not drink wine,

and he drank, the 7°7 is that he is liable for n1p5» for each time® that he drank’,

The question is: why is he mpHn 21 —
= 1997 DY UNYI NNY NI P90 NNIND NN

For it is a po% nRN7, because perhaps he may recant on his vow of ny9or.
The 17 by all vows is, that one may recant his vow by going to a 1""n and finding a reason
why he cannot keep this vow. Once the 0311 accepts the reason and nullifies the vow it is
as if he never made the vow in the first place. 7711 is a special case of a vow, wherein this
loophole is also available that he may be 7°n» his m7°12. When the 27V are warning him
not to drink wine, for if he does he will be mpYn 2> that is a po0 nXIna. The o7y
cannot be sure that he will receive mp%» for he always has the option of being 271 2 nn.
Nevertheless the mwn tells us that he is (X™X2 2¥) mpo»n 20, The reason must be as
follows: whether he will be 771 7°nn is a poo, presently he is 7°11 NP3, the AP of 7'

> See “Thinking it over’ # 1.

% The idea that he is X3 9¥ 277, is really irrelevant to our discussion here. Mo quotes this 73wn because
it states clearly that a 2°13 is NP9 20, See PRI X"wAN.

" If they told him 7inwn x before each time that he drank.
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resolves the Po0 that we consider him a 7°71 °871 and it is not a po0 NXRINA. We will say the
same thing concerning M N77TR by an WX nwX. The Xnwi7 AP resolves the poo.
mMooIN now returns to the very first question of 791 X¥w and the last question concerning
phickrliakraleiliabnifaleb

= 91059 09191 1°919% IMNN NA DY NAN’ 19 BN NYPIY NI

And concerning that which w"9 asked that if so (that 7P 1127 YPONR
7°17) then he will be '\nnR n2 ®y on» and also that 2322 will be able to

become =W and be admitted to the “X W 9ap, which according to w" is
inappropriate. The answer is:

= 1999 PYITP 199YPON N 81’1951}: 795V 19297 ON
If we know that this is the husband’s intent for being van a vi, we will not

retract the 121752 from him. The w1 p will remain valid and the v will be 0.
- NP MY INIYS M 113 19 TINNY 1YPNY XYY D990 YWY NypnY+

For the 2221 instituted this 172°¥poR for constructive purposes but not to
be destructive for on account of this; if we will follow this rule of 1°vpoX
even in the abovementioned situations it will certainly be destructive, the

daughters of Israel will be promiscuous with the illicit relationships.
They will not be concerned. They will depend on their husbands to bail them out by
giving them a v and being Svan it 7™2 °192. Now however that we will not allow this
T1YPoR in these situations they will retain the modesty of P&w» n113.

Moo concludes:
197059 099199 BN 1WA XY 19N 799 X5W 7135 993 Bx Yax

However, if 7"°21 is certain that this was not his intention; neither to be 79m2
IMAR N2 Y, nor to be onan Jnvn, we are not concerned if the 071 can
become 91771Y and admitted to 78w 993; since it will not lead to any my™o.

SUMMARY

mooIn has three concerns if we say 1% PWITR? 13127 WYPOR by  0AT 21002
7" °192: 1) 797 RAW, 2) P90 NRINI concerning 71" nnvn, 3) o mn o0
phicirs

Concerning the wwn of 7191 Xnw the *"1 maintains that we are not concerned
since it is 17 9"V,

® For instance his wife is being accused in 7"2 of Mt or a 7 was born on account of an illicit relationship
and he sends her a v3 and is 2v2n it 72 2192,

? See “Thinking it over’ # 2.

10 For instance he had no idea that his wife had an affair, etc.
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The n"7 argues with the °"7 and maintains that ¥1°YpaX applies only when
we are certain that his intent is not for YR N2 %Y 7397 or to be 2R ILA.
Concerning P50 nXRINT the "7 offers two reasons why it is not P90 NXINT;
either a) that the 211 tells us that he will not sent her a v and be %27 it, or b)
the X1 NP1 of now resolves the P20 of the future. We find the same idea
by 11 that the °11 NP1 resolves the P90 of 1711 7Y HRW RAW.

THINKING IT OVER
1. Is maon proof from ''11 regarding 7iptn or 2217 (or both) Why, also, is
proof required that 7211 or 127 can resolve a pp0?

2. What is the 17 if we are not sure what the intention of the 5va is when he
is Svan the 7"22 v3;" do we say ¥I¥poX or not?

3. What would seem to be stronger (based on this NM501n) 217 or 7pPIN?

' See footnote # 5.
'2 Seemingly °1°11 211 are not X1 on their N1,
13 See footnote # 9.
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